Bihar B.ed Previous Year Paper

[Part - A]
=T (1-7): TUTST 9T 9 CHIT T (T 30T T TA9d) -
%.9. qa 2011 - 12 2012 - 13 2013 - 14 2014 - 15
HqHTST 9aTU 11.06 12.94 13.06 14.04
(i) foreaT, @<t e AT FA 4.02 4.04 3.96 4.46
(ii) TEATES UF TRATT FT0] 2.05 1.91 1.90 2.03
(iii) ST AT TE AETA 2.02 2.31 2.20 2.27
(iv) =T Ug TH] 0.22 0.22 0.20 0.22
(v) SC / ST / OBC AT 0.36 0.35 0.41 0.63
(vi) SR TF TSN 0.27 0.27 0.22 0.25
(vii) THTST AT U 0T 0.82 0.72 0.79 1.06
(viii) 3T - AT 47 0.00 1.56 1.50 1.75
(ix) A= AT HAT 1.29 1.55 1.87 1.34
el LRI Y 100.00 100.00 100.00 100.00
1. AT HATAT H UH Tohd FARATT & ordH a9 2012 - | 6. THHieread § 9 &9 - 1 J&7 7 a9 2011 - 12 2013 -
13 ﬂ;HHM HATAT T2 ZU FHoT T ] 5 TreTe & FH ©= 14 %F 27 =77 | Ffeeraw e arg 12 22
e & ? () TH TH TSI
(a) T (b) # .
(c) = (d) ~d'4¢irw 7ify b) FETEET U QAT Hed Tl

2. THTS HATA 9€ 34T (o9 a9 H IgdH 32 TL dgT g ?
(a) 2011 - 12 (b) 2012 - 13
(c) 2013 - 14 (d) 2014 - 15

3. = I T2 & 3P | MHeieiad § 3 i HT &

(a) T - AT &1 (b) SC / ST / OBC F=4T0
(c) TAT UF THTIO (d) FHETST FHeATOT T TIT

4, TAETertEad " | &9 - 97 742 F7 279 &7 [Zear 7 a0 a9f
H 9T T HET o AT aras g ?
(a) =T UF THRO (b) SC / ST / OBC &1l
(c) | T& TSR (d) FHTST FHEATOT TE TIOHOT

e

5. THTS HaT3A &l HHeEd § H i - q7 qa7 § a9 2011
- 12 9 2014 - 15 % 3 =T § ATgFaH g & 975
T 87
(a) TereaT, @t wd AT FTT (b) SC / ST / OBC Fe 10
(¢) THTST FeATO Ug THOT  (d) TAT THTS HaTU

(¢) FHTS AT TS T

(d) fereT, et we aT
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7. WHEET 9 |/ FI19 - 97 981 § 97 39097 g g2 | 16, 99 AT X, y, z 7 THh T 1T - TR O3 |1 8

= FTT T 0 1040 F. Fr it #1 dr{iﬁ FTE [ FHT:
(a) SC/ST/OBC FA Tl 7, 8, 11 == o oI ST o1 y GTRT TehadT T aa
(b) FETE2T UF TRATY FeAT] TR 2T T
() 5T/ TS TSR (@) 290 . (b) 320 #.
(d) ~d‘4¢iﬁ Tt T (c) 360 =. (d) 440 =.
8. Tt =7T=F T T UF AW 2T FT TLEAT 2| T ey | 17,39 H TS T@AT A A -
FUT 7 7. g, Adih Uk ATH Fl HEd 5 & g T 39 (a) 49 (b) 63
SI<h % 919 38 %. g, A1 ag Toha+ d& &g IT0T ? (£} 77 (a) 81
(a) 1 (b) 2 18. 94T 8261479 H Tohd+ 3 ATRATGT Tgd, Tal® =
(c) 3 (d) 4 ST T ARl FH H TolET ST ?
9. T ATEHT T AT =T H FIEA0T sl AR AT L= THATI 6 (a) 1 (b) 2
TRHT, =l = &7 98 ATA] ardl AT {ST T 5 TR 633 G
T Tt a2 arelf A qeaw 3 Y. =em 32 [ st | 19, TF FeflT § T 30T & 149 #1972 A1 {19 | 499
T AT {21 1T 9 RAT. Tk AT A9 =9 F 98 Toha AT R g1 AT H Fo Tl 49 2 7
e (a) 65 (b) 64
(a) 3 el (b) 4 B, £)63 A 62
(¢) 5 TrT. (d) 6 T 20, A= &1 TS 3 @1 H F UH fohad 6 2 1ok 3% 921 5
10. U STHEX H 7 %, 8 % #X 10 & HeH =¥ =l [dhd B HIUST P Tl 67
" U T A e ethe 56725649256563568649567
3T 21 A A - T 097 2 ™oEH T TR 951 @il (a) 1 (b) 2
STT Tohel 1 ? (c) 3 (d) 4
(a) 13 (b) 20 21, TT= Tk AT 77 FHIOE 27 A9 8, af 98 8100
(c) 23 (d) 29 ik I %) 2 5
.. o HTHT T {TA a9 T T =1 HAT0IT ?
11.%: =F<FA, B, C, D, E iR FURgad 92 21 F ST C & (a) 300 7. (b) 3000 .
T B EARDRATAZ ATED FHIFZIAATF % (c) 2187 %. (d) 2178 =.
ST A 2 ?
(a)B (b) C 22, ITte 79 U 1L 5,00,000 § @EHT 39 4,20,000 § 9=
() D (d) E AT 2, a7 T =t TTaord i+ 2 ?
(a) 16 (b} 160
12, U21eT &l *hidd H 25 Ta9rd gig 3ral g1 TTZF Sl 94 (c) 80 (d) 800

ST oFe IT99Td § 7 #2471 A2V 599 & 92 # 972

1

. HITd h] ilglﬂ ST S 2

G-
TEAT TEeT a3 T2l ? - ) i
D ; ﬁ = £
Eg ?2’802 ?c:g égg]?)% ) ATEAT (d) =TS =T

24, T2 T o599 e G797 T4 ?

13. U %= &l FT 157 15, 20, 30 3T 60 ==f | FHIA: 97

= il . R a) 5 b) 18
qFd 2| T2 FT 6 AM T G 4T, THE F1 7 AM T, (i::))BFJGIi:fr Ed% 21:;
T w1 8 AM 9T ST AT &1 9 AM 92 @I THT| %S -' - ‘h
Fd AT ? 25, FXHAHA AR R TT . ... 9TEE TANT AT I
(a) 11 AM (b) 12 &7 AT A
(c) 1 PM (d)1:30PM (a) W (b) T
: T G~ W C) 2¥TH d) TdFHATE
14, TWeh TXTAT | 10 97 |l - TAT % 3, $ra b= qlhl | (©) ) 2 " |
=1 PR ST OFAT 27 26. TreT TERTT T 2009 %F A= UF aF F &F ¥
(.:ﬂ) 2() | (b) 100 A9 TTT T AT ATAHRIT T -
(c) 240 (d) 1024 (a) ToRET AT TR Fher § (b)) TS &Fher |

(c) FI¥ TETIAT ITH ATH=TF A H (d) T T6ea |

15. & T THFHIOT hl G672 AT ATETs H TR TA9rd =l G
21 T I HHERIOT % Sl § Gl 1 ITa9raar #ar 2n1 2 | 27. TSI TR R 3 g -

(a) O (b) 1 (a) T=HT H T (b) ITHAT e gcoue edunia
(c) Z (d) 4 (c) T G2 CIEIEREE: B R e




29,

30.

31.

32.

33.

34.

35

36.

37.

38.

AT F AT SAGZRT T AT hl TaH HI &AT0

(a) FTAAT &I ST &1

(b) TS ATART I THHT TAAT o1

(c) BTAT F AATTesd AT HILIT FT TdT AT T
3 UL % ITTT AT

(d) ST ATSET Al

TETAHAT ST - U7 ATSIAT G TET & haAeT -
| R s Bk AT L =N
(a) TRTET TET & AT FT=UTH 9

(b) =TI FTHFR |

‘.\H

(c) THT |
(d) ITF | | TheET H Tl

Taed [ [T T9T =FqTeiT 2

(a) 40 9Tl & (b)SOw“'ﬁ'
(c) 60 AT H (d) 70 AT H
qdd Ue 9 J:I\f:*-‘-{IChﬂ e &7 F 99199 2 -

(a) IO geaisa 7 (b) EF%TE‘%Tfr
(¢) UT=ST TOTTEAT & (d) TTH & 1T 721

HIFAH 1T § TreT 7 Y T Teaearg T80 F A7 A1
STTAT T, [orerer for sy 9t ST of -

(a) 599 5 AT 5 Ta (b) 4 79 4 712 4 o

(c) 399 4 HTZ 6 Ta~ (d) 6 T 4 AT 4 &

THTALM TOr2AT &7 ITcTd 2T H T ag 1 & AEAIT e
g Zarg?

[a)HIH 3 qgﬁi ]

(b) TH:9T<F o1 @hl

@)q?!ag
(d) ATHT=T 3% = fore agi &l

T ITSI=AT &1 ®a0@T (2005) # Toreor - 18 =

L . it — G5 %_,}
1 [l Agcd [+ U4l 5 .

(a) PHARTZATRI (b) HTHAATATR
(c) FFTAT=] (d) STE T
ATZAT A2aTe T & H 521 8 7
[a)arﬁmw (b) &

(c) & (d) foraaT
TSR 9Te7 T ST AT 3 ?

(a) TARTLIT (b) SATATHITA]
OREIRE (d) Tersror
TP AT T9reAT g ] AT 9 g -
(a) qaT=T | (b) 75 Taeeir §
(c) \raTer § CIREIRIGE]
EIEAAT Tohed HaTeT 2 -

(a) HIETZA (b) 2

(c) ZeitasA CEASE

39, THTH el TOITAT SATANT F A2 i o ?

(a) ST, FLTITA (b) 9. =eha T4
(c) 9T ST, . T1<193 (d) 99 o &I A=l

40, TTSAT AN T ATH dGAHL TG TIT F -
BEUGEIRI EICMEIRIE
CEIEEIRIE (d) 99 o FIs Al

41, F9 2015 FT ITET ATZd FTos TLERTT Theahl 1T 747 272
(a) ST X (b) TS T
BELEEEYY (d) 1tor Y=

42, TFHA F1 § HHieted § | &9 - 97 3TNH 999 %4
AR H STAT STAT 2T ?
(a) ZTT=ATH (b) TTT 1A

(c) == (d) 5% 95

Directions (43-47): Fill in the blanks from questions
with option given.

43. Amulyaalways.............. first in his class.
(a) stands (b) arrives
(c) completes (d) scores

...... fool.
(a) by (b} with
(c) through (d) on
45. Divide thesefruits . . .................. Rajesh and
Ranil.
(a) between (b) among
(c) within (d) with
46. We will discuss the problem . .....................
breakfast.
a) on (b) in
¢) at (d) by
47. Hehas 2omeBack . . cox wss wws smm cam 2 his word.
(a) from (b) by
(c) on (d) with

gcollegeduma

—



Directions (48-52): Read the following passage carefully
and answer the questions given below it.

PASSAGE

Science engenders hope In the future of human
achievement. In the study of literature and art on the
other hand our attention in perpetually riverted upon the
past, The man of Greece of the Ranaisance did better than
any men do now; the trumphs of former ages so far from
facilitating of fresh triumph by rendering originality’
harder of attainment. Not only 10 artistic achievement not
cumulative but it seems even to depend upon a certain
freshness and naivete of impulse and vision which
civilization tends to destroy. Hence comes to those who
have been nourished on the literary and artistic
production of former ages, a certain peevishness and
undue fastidiousness towards the present, from which
there seems no scope into deliberate vandalism which
ignores tradition and in the search after originality
acheives only the eccentict. But in such vandalism, there is
none of the simplicity and spontancity out of which great
art springs; theory is still the canker in its core and
insincerity destroys. The advantages of a merely
pretended ignorance.

48. Science generates hope because the Scientist -
a) Studies human achievement

b) Does not bother about past achievements
¢) Works for the future
(d) Studies natural phenomenon

49, Originality in literature art is difficult because :
(a) The achievement of the ancients are
disproportionately glorified

b) There are no great poets or artists

¢) Everyone refers back to the past

d) The artistic achievements of the ancients cannot
be surpassed

50. Naivete of impulse means:

a) Feeling which are innocent
b) Sentiments which are child
¢) Emotion which are powerful
d) Inspiration which is pure

51. Modern literary and artistic productions are -
(a) Great (b) Eccentric
(c) Traditional (d) Original

52. Great art springs from

a) Ignoring tradition

b) Pure originality

¢) Acts of Vandalism

d) Simplicity and Spontancity

Directions (53-57): Fill in the blanks with correct option.

53. The doctor said thatasmalldaily ................. of

the new drug would soon cure him.
(a) tablet (b) pill
(c) does (d) quantity

54. The priet addressed the . ................. for more
than an hour and was listened to with rapt attention.

(a) staff (b) congregation
(c) audience (d) crew
55. The autocraticboss . ................ even the few
who genuinely supported his policy.
‘a) alienated b) ditfered from
¢) scolded d) identified
56. We ponderd deeply . .................... the best
course of action to be taken.
(a) as to (b) upon
(c) about (d) over
D7 sos o nue sioe S0 50 person cannot read or write.

(a) lllegible
(c) Literate

(b) Legible
(d) Illiterate

g9 (58-62): Fwferaa yoas wor & e ;% 9t o
2T T% Y &T41 3T U 98 Ud UH o7 &A1 T47 g1 0 e
S | s SHY O BRE N A fos E . .

% SE 9% &0 M0 fEahed] | | Filg Uh 3L A AT ToTe+h
T AT ATl 92 | Fgf 9 20 S a1 A JATer a1 T21 6
§1 2|

Eg K adlwd o9
e 5 0
1 : 10
(€0 () =
59. AF:IK::LQ =7
(a) MO (b) NP
(c) OR (d) TV
60. BDFH : OMKI :: GHIK : ?
(a) FH]L (b) RPNL
(c) LNPR (d) TQNL
61. AST: BRU :: NQV :7?
(a) QRW (b) MPQ
(c) MRW (d) OPW
62.4:17::7:7
(a) 48 (b) 49
(c) 50 (d) 51

‘.\\.

e (63-66): =T TS #EaTsi W W = & T 9¥
AT, Tashedt /& =)
63. 2,7, 28,63, 126,...7

(a) 215 (b) 245
(c) 276 (d) 296
64. AB,ED, IH,NM, ....?
(a) TS (b) ST
(c) TU (d) SU
65.2,7,24,77,....7....,723
(a) 238 (b) 432
(c) 542 (d) 320

—
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66.

67.

68.

69.

YVSP

(a) N (b) M

(c)O (d) L

a7¢ STREMERS @1 %= UVTGALDQR g @I
KNOWLEDGE =T % T -

(2) MQPYLCDFD
(¢) PMYQLDFCD

(b) MPQYLDCFD
(d) YMQPLDDFC

T ST 39 T =l AT FT A 27 T4 21 18 A1
T2 TOAT 3T T 61 AT | AT ZR1T1 376 FAHTT 37
2 -

(a) 42, 12
(c) 30, 24

(b) 40, 14
(d) 36, 18

A BFTATRZIB, CHATR I C, D a1 Tid 21 E, A &7 T4
2| D&T E | 9&e 2T -
(a) Daughter

(c) Sister - in - law

(b) Daughter - in - law
(d) Sister

70. T HATU 3 ¢ 5% 9T § 21 372 9 &l 3T AATATH
72T 3T ST, 7 SA9Td 12 : 23 37, a7 § 37U 2 -
(a) 30, 50 (b) 36, 60
(¢) 33, 55 (d) 42,70
e (71-75) : Mg T A e dag 3T L, S
AP 21 TAH a9 | 2fe49 & o 2, S Argieasa & fory 3w P
T 9T & Torm| [=Ai9e a &5 9 g 291y T 2l
I
71, ST &7 T S99 A7 ol ZTAT g ST LA 15 2 -
(a) (b) d
(c)a (d) c
72, T2 = I [2@ATdT g T Il 12399 g A% a1 97T 2 -
[a)b (b) c
(c) a d) d
73,92 A A W@Adr g T a8 7 af J57+® g AT 7
IS A 2 -
(a) g (b) c
(c)f (d) a
74, 9 AT AT WEAET ¢ Toh S0 IEd9 dleieee g 3%

TSI ST HT 2 -

(a) g
(c)d

(b) a
(d) b

75. 9 &7 ST e

[ 2 T 3 SI239 2 S T e |-

(a) a (b) b
() ¢ (d) d
[Part - B] Science (T3=719)
76, 9TT<F %! T FAT Q ?
(a) AT (b) ST
(c) 1= (d) AT / FF=
77. 9 qI<h [devlce) ST OTHT % a2 =l qq?ﬂT?ﬁw B

9
% ToIT ORISR 397 START Fd] 2,

FAT T I ATIH Tz
ZATAT 3 -
(a) THY (b) =X
(c) AT (d) T RTAY
78. WIE AT & Ava< L. &1, HY. IoTe F2d &l €T I -
FIT%'?
(a) ﬁ‘m (Liver) (b) 257
(c) < (d) ATRTTSTT

79. 979 JT 94T T

T Ghd g, FEATd 2 -

"'x"'-,\"‘x

() S=TETH (b) ZETTETH

(c) ATHTZ2 (d) TxTETEE
80. TH¥r & & TZ=TSIo=T il 2 ?

(a) 919 (b) ATH

GEES (d) =9 & AT
81, 9% H I I - 97 =14 ST H A5l TAATE ?

(a) & (b) erg=

BEEIES (d) o<t

82, chu T Tad =l

(a) ST | 9T

T - AT AE g ?

(b) &TZT T U=

(¢) ToRETE T ST

(d) ATT T A

83. ™M § T 17 - 91

T AT A9 AT ?

(a) Oz (b) O3
() H2 02 (d) =99 | FIE T2
84, ST (Feal) TX e o 1T HHTI T THh1 0l ATl
&
H " -7 I 2T 8 ?
(a) T=2ITHE (b) T=HETH T
(c) US=STITeh (d) TS
85. A A S ATA TAZHT FI Aol § da aar g, 391 pH
= ™ s i Y [ ﬁ_
AS T g hl HATaAT 2
a) 1 (b) 4
()5 (d) 9

86. TU% 3 ohms

¥ (Resistance) aTer a9 id=ie

(Resistors) THTA

T &9 H Hag 2| 29 THh12 F GH I

T T T (equivalent resistance) g -

(a) 1 ohm
(c) 3 ohms

(b) 2 ohms
(d) 9 ohms

gcollegedunla
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87. TohdT a1+ T I T&¥ ST I A (FIFaFT &) H F=d]

T 9¢ 372 [inverted] TAT ATHIT H THT 21a7 gl T &9

""H.

CAREAET: rg\wu f g, a1 TEH 78 My [ AT ST H3AT

F
T o g% @ d " T 331 9% TE1 % 2 -
(a) f (b) 2f
(c) @41 (Infinity) (d) ITATE H H Fig AT |

88. T9+ - Tl 54 T=rT (Liquids) | el a5q & Hefeie
T (Weight) & -
6 N 7o (Liquid) X &
7 N 7a (Liquid) Y &
8 NS H
9 N 7= (Liquid) Z #
e 34 § A - 99 (Density) 2 7

(a) =9 (Liquid) X (b) &= (Liquid) Y
(c) STt (d) == (Liquid) Z
89, S TAAT UT Gl T H FT Bk A8 | A5l Tl #4114
TAdl T2 -
(a) ST & I T Ta+g (Boiling point) FH 21 STAT 2

T

5
(b) ST<T # I =T Te=3 (Boiling point) s 147 3
OEESIECEIGIE

[

|
MNEESIEIPERGIE

90, F~5HT * HUL & T<RAT 3 AT TLT 1 TIg T ATHA
ATATATT HAFT gl g, FA11eh F-adT | -

(2) ATATAZT A2l 21aT | (b) I[ECATHRIOT FH ZTaAT 2 |

(¢) ATTHTT & 2T 2 | (d) TTTHTE SATET AT 2 |
01, ST TR 6l TEIeAT HH T T STHTOT T TN Hieh

FId 2 -

(a) TTSCIHTZR (b) STIHTEX

(c) T TFh (d) THTEHM

P | Y

92, AT F =¥ FF (Kidneys) =4 &9 H fode T
STaTdT 2 7
(a) T OEEBIELED
(c) T |7 (d) 9= (Digestion)

H H I - 97 959 2 8 2

94, Iﬁi|\31‘<'1I CRET

ST ToRT9T 2h! 7T SATEER 18 21T 2
AYSAT Wh9T *hi AT [wave]ength] AT

AT TRTIT =hl AT ST ST 2
AT =9 (flash) T IEH T AT 4

95, ST #hIs 1A IS T Toh19T T A0RA [spectrum) I
T T | R T ""

oned | rj,&'” I"I‘?HO’IHEIFl HI?I‘J’-II TTTH E-‘It‘ll

(a) TXTadA (Reflection) THT Tehio Dlspersion)
'b) s9adT (Refraction) 4T =91 (Diffusion)
¢) ATad (Refraction) @4 Y= (Dispersion)
‘d) WehiUIT (Dispersion) 4T =0T (Diffusion)

e =

96, TohelT F& T AT T HTHTT AT o 45 = [ehel 9N I3

AT 2 ?
(a) AT A (b) I THT
(c) I (d) TTeAT

Q7. faeteraT H o PR 37 & 3@0d @ - g - HH 60
(Non - biodegradable) = g ?

(a) HTH, T TAT (b) TH, TAFHST TAT AT+

(c) e, T&sTT qHT hoh (d) =T, FesiT TAT AFS |
98, THTL ATATALY | ATSIF 93T =h &0 (Depletion) T A

WT%—

(a) 9T (b) 7=

() AT - TP (d) FATTITERAAT T

S N e N . ks e N e

99, ATATS I THH Had & MTorad § F fohd TRT & ZH
T GHATAATY FH 2dl g ?
(a) T (b) ==TERT (Goitre)
(c) HeHE (d) 991 (Hypertension)

At

1{]0.5?{&,%441 FAT g ?
(a) FTSSISTA TLHT T ATTHIZ M
(b) ol s MYH ﬂ hT 3 sﬂﬁqux
()€ T_QMH TLHTO] 3 ATSHIZ

[ B

(d) STTTTH TITHTI hT ATSHIATL

[Part - B] Social Science (®THTS® A1)

MO ) (!

76, TTSTHEA &1 AT ToheTeh AT § [ehAT 14T 2T ?

(a) TZTET (b) ST
(c) HATTST HE (d) errgsTat
77, ATH & FIS AT 9T TTeh T ATHYIT i Fror = 2
f‘"‘. = Q
) 2R gcollegeduniaa
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78.

79.

80.

81.

82.

83.

84.

85.

86.

87.

(a) 29 (b) 28

() 27 (d) 26

AT THTST o[ TATIAT TRl [T &7 ?

B EZIGIREEEIRE (b) TETHT TH S

¢) TR d) T TTHHETET 1T
(c) : :
TeheTeh TeTTg T2 I15d §I=aua i A<k 2idl g ?
(a) TS (b) THTAHA]

(c) g (d) STRTETIS

AT GTETSHT T GEATTF I AT ?

(a) 39T (b) Fev=AT®

(c) == A (d) TeTH

BT Tehereh QTTHaRTeT h QIXT AT T 21T (T AT ?

(a) TUTLA (b) sTeTTh

() F5IF 5T (d) TTH & FIE 7L
EGE ST H Y 39 2 LU %

(a) SI¥ TITHH (b) STg FATTT &

() HFTT FATTT (d) FedAT TATTH h

STOTeFT o1 el AT | AT ST S(7a7 g ?
(a) ngwl (b) TTSTeTa
(c) TATURTA CELELES

9T 1A =l Y[FATT AT o =l AT -

(@) 62 3. H (b) 78 £. &
(c)823. 9 (d) 88 £. &
AT | T THT29T TAAE ST i o ?
(a) TTZIST (b) 2
(ESIEL (d) T
AT AT T ATAH TAAL S i AT ?

(b) HT. TTATATHAT
(d) TATETATH A=

(a) AT3UZ& A
(c) TLETT I

88. TaH T3 TgoT Ta= 1217 ¥ -
(a) AT | (b) AFa=T |
(c) AT H (d) A=ATT H
89, WTZd =l JZoH Axl I & ?
(a) TETa<] (b) eI
(c) AETHA] (d) 91T
90, WHTE= AT GHT dYUT AIRAT THIO T8 % &1
FHTATANA TohaddT 2 7
(a) 4 =< 30 = (b) 5 =2 30 tH=
(c) 6 52 (d) 6 5= 30 faee
91, ATZATS At ] Tohe Lo H 20T 22
(a) A2 (b) F7
(c) STXTEE (d) T2

92.

93.

94.

95.

96.

97.

98.

99,

100. FE FET, ‘T

g7 o AT A AT STUE T AT FHgoATdT 3, THHT -

(a) TTEHHD (b) T gHT

(c) & (d) T=FT

RET &l AT 39 AgTaeh] 54T JATTE T FgdATdT 2 -
(a) =T =TT (b) T=7

(c) &Ter (d) TA=HEA
ITSIT ZUae sl TTSTLTHT AT -

(a) AT (b) FHIS

(c) 3= (d) TT=fer=
T 9=TAd & Tehad 727 8 7

(a) 1 (b) 2

(c) 3 (d) 4
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